Equations

- Solving without numbers
- Units in expressions

- Dimensional consistency




Solving without Numbers

471'27’ a) Solve the equation forr.
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Units in Expressions

W . F Ax W is Work in Joules, and Ax Is
o ( ) displacement in meters. Show that the
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Units in Expressions

k(AX)2 Ue is elastic potential energy in Joules, and

Ax is displacement in meters. What are the
units of k?
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Dimensional Consistency

All of the terms™ on both sides of an an equation must have
matching units.

* terms are separated by + or - signs.
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EX: Dimensional Consistency

Determine whether the equation below is dimensionally consistent.

. =+mv’ +mgh
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